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Name: OKSL?)(‘ Algebra 2 Homework7-8

Period :

e
1. Ifcos (B) = 6/7.then sec(B) = .
, t%/?
. Ifcsc (A) =9/4, thensin {A) = /A
. I fan [A) = 13/4, then cot (A} = 4/!3, .

r

w

5
4. If csclA) >0 and tan[A] <0, then angle A must be in guadrant ,i . C.
- o -
5. Ifcos(A) >0 and csc(A) <0, then angle A must be in quadrant L
to. + S -
6. Iftan(A) > 0 and csc(A) > 0, then angle A musi be in quadrant ’:[: -
dan S
(1 B)
7. The terminal side of &, an angle in standard pasifion, intersects the unit circle ot P[—g. - ?J
What is the value of sec(f)2 (Regents Question) £os S
1
n -3 B -5 E_—
) '3 Cos(0) = B
@ -8 & .
e 3 Sl = -3

®

If «@ is in quadrant | and passes thraugh the point (x, yv) on the unit circle, what weuld be the
coordinates of the poﬁﬂs at angles (6 + )¢ f
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a. Draw a sketch.

E
pA

b. Find the remaining frig values.
*c. Find @ in rgdians to the nearest tenth,
=l

fan(e) 2[4

sinfg) = ’/3
cos{d)=2/13

tan(g) = ﬁ‘b

sinfg) = _/Io
cos(@)=_3

tan(0) = _L}[

12. Given sin(g) = %und @ is an abtuse angle less than » radians,

sinfe) =
cos(f) = _
tan(g) ="

#9-11: For the following problems, draw a sketch and find all remaining trig values.
— L oo
9. sin(6)= ?3 and sec(0)<0. = -
0 .z
b sin@)=_ 15  csclo)=_"1"3
=
cos() =7, secld) =2/ %

cot(9)= jﬁj

csc(d) = ij}i /o
sec(d) = 12

collg)= fa

10
cscle)=__Jo
sec(f) = s

?{Ycoi(a) S/

m<r0_
«-,_, ’//3//1\‘_11\,/7

& =7=/2 ﬂ?ra((’\

A frsf< 3— , how does that change your onswars?
< LﬁfV'P dkmvgx

%mpm‘b
O =704 2 = 4% nael.

— >
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Unit 7 Test Review

Remember there are 2 extra reviews:
o 1 at the end of your HW Packet, extra review key is posted on my website &S
o Castle Learning Unit 7 Review (o,

o A 9
5 H‘C "("TA‘ (-4

/0
_uS 52
: IR ‘ieaﬁ\ Lt
/
o
Aug 8-8:56 PM

1. Label the coordinates and quadrantal angles (in degrees and radians) on the unit circle.

)

( .

F

"
2. If sin (&)< 0and cos (#) > 0, angle & would be in what quadrant?
3. If tan(x) > O, then cot(x) is positive or negative?

4, If cos(8) = -4 and cse(B) < O, then 8 is in quadrant

5. If csc(8) < 0 and cot(B) > 0, then 6 is in quadrant

Aug 8-8:56 PM
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i —g ,?} on a unit circle:
\ a. What quadrant is the pointin? __
b. sin(B) =
3 cos(8) =
d. tan(B) =
e. m<9z=

6. If ¢ is an angle in standard position and its terminal side passes through the point

Aug 8-8:57 PM

7. Find the third side and the value of each ratio as a fraction.

25

A
a cos A= b. tanC=
c. sinA: d seeC=
e. cscA= f. cotC:= B

15

Aug 8-8:57 PM
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1

=

8. Express in degrees: =

9. Express in radians, as a fraction in terms of T : 250°

10. 300°
a. Sketch the angle, indicating the direction of the rotation by an arrow.
b. Find two coterminal angles....one positive and one negative.

11. -150°

a. Sketch the angle, indicating the direction of the rotation by an arrow.
b. Find two coterminal angles...one positive and one negative.

Aug 8-8:57 PM

12. If csc (B) = % and cos (8) < 0, find:

a. Draw a diagram in the correct quadrant

b. sing=
c. cosB=
d tanB=
e. secB=:
f. cotB=

13. If sin(8) = -0.6 and 6 is in quadrant III, use the Pythagorean Identity to find cos(8).

)
14, If g(x) = cos(x) - sin(x), what is g, % ?
.2)

15. If cos(6) = £, and B is in quadrant IV, find cos(8-1).

Aug 8-8:58 PM
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Unit 7 Test Review

1. Label the coordinates and quadrantal angles (in degrees and radians) on the unit circle.

M_E—;—_M,L?/‘,

e

2. Ifsin(#)<0and cos (9){ 0, angle ¢ would be in what quadrant? _ 2 [ ;

[

3, If tan(x) > 0, then cot(x) is positive or negafive? ___ k
-
4, If cos(e) =-4and csc(@) < 0, then 6 is in quadrant ﬁ .

5. If csc(S) <0 and cot(®) > 0, then O is in quadrant ! l .

SAm - fevne t

6. If ¢ is an angle in standard position and its terminal side passes through the point
( 2 V"i\

,7',,J on a unit circle:
2 qumte

U2 = T
“a. What quadrant is the point in?
e

b. sin(@) = = e
-\
c cos(0) = - }-%
d fan(®)= < ‘r’—/z
m<@= /55

o= STN_{J?{Z) 95°
180 -¢5=/35°

2 2
7. Find the third side and the value of each ratic as a fraction. X Li’/é =25
B a A e ,L;,lﬁ =625
a cosAc= iv)b b. tanC=_//5 [ o x R 8]
5]\~ 35/ X \25
c sinA=<A6 d secC= /15 i X A0
57 /5] o >~ L
e csz:A:El 15 f. coTC:_éQ B 15 ¢ .
Q1
. . o/ 1O - o
8. Express in degrees: m?(ﬁﬁ: = _5’% 7‘
9. Express in radians, as a fraction in terms of T : 250 5 5 Ve
(1%,
10. 300°
a,  Sketch the angle, indicating the direction of the rotation by an arrow.
b.  Find two coterminal angles....one positive and one negative.
Fo0=3260 = LO° 9 A~ %&O
3007360 = (o0 —
1. -150°
a.  Sketch the angle, indicating the direction of the rotation by an arrow.
b.  Find two coterminal angles....one positive and one negative.
)30 = AN0° L/
750 -360 = h/G°
12, If csc (6) = = and cos (6) <O, find: -
a. %paw a diagram |vL| the correct quadrant
b. sin@= //7
¢ cos@= /’5/(7 8
P 2 ,_Z
d. tan®:= 3’//5’ ?ZT)/:”
2 e
. sec8=-I7))5 288 Sras)
e ec //5 X 908

f. eotezisfy X=/5

13. If sin(B8) = -0.6 and B is in quadmnT III use fh haor‘ean Iden‘rlfy o find cos(6). ﬂl

SO o ¢e-0 =/

)%+ eas*O=1 o@s@’_‘, @)
C?jw rfo;‘b‘ﬂ odl > (‘QSQ (*S’\ +

If g(x) = cos(x) - sm(x) what is g( ‘7 \’ , e ~>
it (e ,\.t cals
9(5)= y) W[ C) LV ﬂaa@ﬁiﬂg

15, If cos(8) = %, and © IS in quadmm IV, find cos(8-7 ).

~ &

CE)°

TQ2
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